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1.	 236 + 593 =

1 mark

2.	 780  274 =

1 mark
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3.	 456 +  = 519

1 mark

4.	    +    =

1 mark

1
7

5
7

1 mark

5.	 7 4 10 =
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6.	 Use the digit cards to make an even number less than 500.

1 mark

2 5 3

7.	 Here is part of a number grid. Write in the two missing numbers.

1 mark

497 498 499 500 501 502 503 504

505 506 507 508 509 510 511 512

513 514 515 516 517 518 519 520

1 mark

8.	 Write in the missing numbers.

	 156 =	 +	 + 

	 156 =	 +	 + 

	 156 =	 +	 + 

100 6

100 40

100 46

9.	 Write the missing numbers in the boxes.

1 mark

+30 +8

124
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10.	 There are 20 pupils. 

	   of the pupils walk to school.

	 How many pupils do not walk to school?

	 3 the subtraction that will give the correct answer.	

	 20  10	 20  5	 20  15	 20  4 1 mark

1
4

2 marks

11.	Match pairs of equivalent fractions. One has been done for you.

1
2

6
16

1
4

4
10

2
5

3
6

3
8

4
16

13.	 Put these fractions in order, starting with the smallest.

1 mark

1
3

1
5

1
10

1
4

12.	 Leroy eats three fifths of his pizza. 

	 What fraction of the pizza does he not eat?

1 mark

smallest largest
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14.	 Jana pours water into the jug and then adds some squash. 

	 How many millilitres of squash does she pour in?

1 mark

500 ml

400 ml

300 ml

200 ml

100 ml

500 ml

400 ml

300 ml

200 ml

100 ml

water without squash water with squash

ml

1 mark

15.	Which months have exactly 30 days?

16.	Nishi has a 2 coin.

	 She buys a newspaper for 60p and a stamp for 62p.

	 How much change does she get?

p

2 marks
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17.	 The table shows how many pupils go to a primary school.

	 How many pupils go to the school?

2 marks

Key Stage 1 Key Stage 2

Girls 85 120

Boys 75 114

Show your method
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